¥y.

¥%.
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q. I S HREET ST TR 1

. A EA R T ASE JEHR EEH T

3. T g i o o

IfereRT WATEHT STTERAT TE1 ST A Q/EA ? i :

(F) RIIT@)  IRTH (™) R13FH (=) 933 9 - ()

T 094 AT ASEAN (Association of South East Asian Nations) ) et TeTeR §A I T
see ot 2 - qﬁﬁw
Foremed 5571 g1 SIaifezd ol S9! Special Drawing Rights (SDR) = 5 T W B 2

(%) Australian Dollar (@) Swiss Franc (7)) Renminbi (&) Lira =@M
HYh I6Z T TSI hia € B9 2 - 999 UM
mmmm@lﬁﬁaqu@f@7 gt I < § LA
fr o & W R TR B ? '

q. 3Wammmmmmmm
3. ASEAN %I 94H $HEed FeMaae] arggeHd 31
3. TOMETR! HETes Tl 9 s | :

F) W3 A (@ REHA (m ¥ L)) T3 A - (@)

ﬁmm@@maﬁaﬁtmtwmwg

The following table gives populatlon and total income of a city for four years :

3

Year a | 2001 | 2002 | 2003 | 2004
SHEA (FREH Population (Lakh) 20 4 21 2 .23
=TT (%. HirsAD) Income (Rs. crores) ' ‘ {1010 | 1111 | 1225 | 1345

Foret ToeE wo A i Y IS g S SR H 9 ?

Which one of the following statement is correct with respect to the above data?

(A) THF T 5% = W 9K TEA SHEE giH W{aﬁ | (Population increased by 5% or more every
year).

(B 7% Y 10% =19 9= @ AT gis ST | (Incom increased by 10% or more every

year).

© sf*’n e MT'?E ¥. 5000 =1 7RI | {Per capita inco:n2 was alwa)s above Rs 5,000/-).

(D) wfa safes &ar 2004 W1 €3 =1 511 | (Per capita incon:e was highest in 2004).

ot weeE TErh! Al SNORE ,

The following 3 questions are based on the given table.

e faenefiees e Sim TR T T daeor i

The survey of the means used by the school children.




=

489

Cycle Walk Train  Car Bus

TV T WG % @S ? What is the most popular means?

(A) WEFA (Cycle) (B) =9 (Bus) (C) &R (Car) (D) ¥ (Walk)

THEE A 7T SaIeE WRHTERE AR T 5] Hh 8 WS ? How many more children :cc 5. by
bus then by cycle? :

(A) (10). . (B) (20) © (30) . (D) (40)
mﬁrmmwﬁaﬁmw ? How many children do not walk to school?

(A) (60) (B) (70) (©) (80) D) (90)
WWWWI Find out the odd one. '

(A) Sn_ore ‘ (B) Slumber . (C) Yawm (D) Doze

wetee (2) Tfaus sk 3 s ? What will come at the place of question mark (?) in the
following?

HIJ : MNO= RST:? _

(A) WXY (B) UvM ©) XYZ ! (D) ‘Nene of the above

af% CONCEPT &% unmulqr Y FRIEND TE ysglmt e ARGS ¥ PREDICT R IR D 5 2

If CONCEPT is written as unmulgr and FRIEND is written as ysgimt, then haw is
PREDICT written in that code? _ ' .
(A) usygmnl (B) _slmgtar (C) gsltgur . (D) qgmnltr

T TR S TR 90 Fir. 3t Wk 20 fir. 782 vt oo <l w2 T30 fr s
FTHER! S G | ST T R I Tl S 100 B, SRR e 3 SEE 82 I TR

- Torgar %ft 2 Tufs s aeweT e 2

A child went 90m. in the East to look for his father, and then he turned right and went 20m.
After this he turned right and after going 30m. He reached to his uncle's house. His father
was not there. From there he went 100m. To his north and met his father. How far did he
meet his father from the starting point? ) »

(A) 80m (B) 100 m (C) 140m ; (D) 260m

F TR A" TG (21) THER I B 3B YOI (20) St SR B 1 AR A OB
N T IR T A ST (28) S T §75 W T T A B! SR S R S
fthes & ? : :

In a row 'A' is in the 21th position from the front and 'B’ is in 20™ position from the last. If
'A' and 'B' interchange then 'A’ becomes 28 from the font. How many persons are there in

the row other than 'A' and 'B'? _
(A) 44 (B) 45 - (©) 46 (D) 47
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ﬁim:mﬁ@mﬁmmaﬁgﬁaéﬁmnnﬁg@wﬁﬁﬁmm
THRIE T A 91fe e feush YR aoh Ul eires 2 A, B,C TD 9EeE W faeed sre |

Direction: In the following question, two statements are given which followed by two conclusions

. numbered I and II. Read the conclusions and which of the given conclusions logically follows

from the two given statements choose from options A,B C and D.

¥ (Statements) : TS FTHEE T g | T TAEE FGU &

All dogs are rats. All rats are hens.

feEem (Conclusions

] S %wwgil (some dogs are hens)

nm =& G0 U §1 | (Some hens are rats)

(A) 3 f=irean 1 & wif¥ent w1g fashTe 1 (If only conclusion I follows the above statement).

(B) =f fa=renn 11 & =iferet wrs fearehted 1 (If only conclusion II follows the above statement)

(C) af f=ienn I a1 I 9 |1 Tehed Hiforen) ‘1Fﬂ$ Ta&TS | (If either conclusion I or II follows the

above statement)
(D) afe frarem 11 11 33"3! wifYyent WA fegepre | (If neither conclusnon I nor II follows the above

statement)

W@wwm.mmmwmmmmmwm
IR WEAE | B SO ] G @uus IO S W Sheeeus) S IEE
e e T 7mmmw@mﬁmmmmmmm

ek

Krishna had a packet of chocolates. After eating the first one, he gave half of what he had
left to his brother. After eating another one, again he gave half of what he had left to his
sister, leaving him with just 7 chocolates. How many chocolates were in the packet to start
with?

(A) 28 : (B)30 ‘ (C) 31 (D) 34

T RIP,QIRA K, L ITM 9 fame dee | Rgus! v 3R g9 Y 371 P+ Wt T L
1 A K TM F S g Sese i et S TR § g S W Q 9
R = s 2

Three men P,Q, and R are married to K, L and M but not necessarily in the same order. P's
wife and L 's husband play K and M's husband at bridge. No wife partners her husband and

Q does not play at bridge. Who is married to Q ?
(A) K (B) L ‘ <O M ) (D) Data insufficient

T o ﬁi‘R "Tﬁ'@lﬂ | Consider the following:
1. 'A','B' 91T B | (A is taller than B)

2. 'C,'A' =137l B (C is taller than A)

3. D', 'C'%=137al 81 (D is taller than C)

4. 'E'® =137 B (E is tallest of all)

wmmmmmmmﬁﬁmmmmm 2
If they are made to sit in the accordance with their helght order, who will occupy the middle
position?

(A) D (B) C (D) B D) A -
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T e forem RNy T s e werst SeR KT8/ Consider the following figure and
answer the item that follows: - .
108

108

i gl AT SHFAR T T TR AAREE R TR B | AR e
T P WO B | i 3¢ Sl STreeh S Jifn TR B | R deTeens) 5
T HEm: Wity e =+ (negf) i weliw yerees: eras whiite 8 2 -

A square is divided into four rectangles as shown above. The lengths of the sides of
rectangles are natural (whole) numbers. The areas of two rectangles are indicated in the
figure. Which one of the following numbers does not represent the length of each side of the
square (figure) given above? : :

A) 31 (B) 28 ; (D) 24 (D) 21

Tegwwt feomn s s wvige o 2

How many squares are there in the given figure?

(A) 10 ®B) 7 © 9 | (D) 8

e Afgma go ey

Complete the given matrix:

AL
==
RN

ﬁwmmﬁammmmgmw ? )

Which one of the following figures fits into the blank part of the above matrix?

W=l

A ® © O
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18.

19,
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JERFE (2) MU ISR ARRATIA 7 S9GTH Fo Answer Figures 912 e |

Select a suitable figure from the Answer Figures that would replace the question mark (?)
Problem figure

A_Do’ ® |o OA ?

Answer figure

(A) B) © D)
ﬁ'FIVenn diagram ﬁﬁmm - ¢ el wrae wdl uiss ?

Which of the following Venn diagrams indicates the best relation between Hospital, Nurse
and Patient.

& O o

(B)
ﬁwzmmmma:

-The next 2 questions are based on the following table.

T AR 65 FHERITE®! rafes s Agfd e Rgenr o1
The following table shows the frequency distribution of weekly of 65 employees:

SR Tt s FHERTER den
Wages (in Rupees) No. of employeés
251-260 a5 8 3
261-270 : 10

271-280 ] 16

281-290 14

291-300 10

301-310 e 5

311=320 2

mmmmmmms 301 T FH WT. 260 e

What is the percentage of employees earmng less than Rs. 301 per week but more than Rs.
260 per week?

(A) 89.23 . (B) 76.92 (C) 7240 : (D) 61.50
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21.

22.

23.

25.

26.

27.
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T 7. 261 3R 7. 300 T FAE T FHdEs T W T E. 281 W1 w9 FE 1 weades
B EEINR I TNGE R ek ) : : :

What is the difference between the percentage of employees earning between Rs. 261 and Rs.
300 per week and employees earning less than Rs. 281 per week? ;

(A) 1542 (B) 24.6 (C) 36.92 (D) 40.00 —_
W e o) Sem 30 51 Ferdies weurt $ie 1 Gorh! oM SgER R Qe T aeret
mm,.mmﬁwmmmmmaawz .

There are thirty players ready to play a table tennis single tournament. There is no provision
of ties, each time the player who loses a game is out of the tournament. What is the minimum
number of matches to be played to determine the winner?

(A) 25 B) 30 (C)*¥35. - : D) 29

A 44 fire e 3 9 TR < 7om St firdve o ot 12 oy e = e B e

"How many mninutes is it before 12 noon, if 44 minutes ago it was three times as many minutes
past 9 am? ' o

(A) 24 minutes(B) 34 minutes (C) 44 minutes (B) 54 minutes

ARM & x,D T+, AW+, S A -SARES W 25572D12A1M6 1 A T TSR |

" If M denotes x,D denotes +,A denotes +, S denotes- find out the value of 25872D12A1M6.

(A) 25 (B) 30 © 3 (D) 2
el SEA FA S AL 2 . .

What number should come the blank spéce?

(A) 3 . (B) 4 © 5 (D) 6
Frfefaa s wefes (2) WRaws! 38w 3 ods 2

What will come at of question mark (?) of the following series?
6881268612368812346861234568? '

(A) 8 (B) 6 (C) 4 ' D) 1 '
TREARAT S T, S & T A s o A IR T ™ 9w 67 Y, AW T 35
T T AfEER! 6 9 B | TR Siraa SR w2l 2 i

Family consists of two grandparents, two pai'ents and three grandchildren. The average age
of the Grandparents is 67 years. That of the parents is 35 years and that of the grandchild is
6 years. What is average age of the family? -

1
(A) 28 ';1 years - (B) 31 % years (C) 37 7 years (D) None of the above

TH S 20 AT 80% %10 7w | rafs Su3 B o eSS 9l 5 AR 3 T g s
B ¥ TR T TR W Fegol i iy fe v e 2 : .

A does 80% of a work in 20 days. He then calls in B and they together finish the remaining
work in 3 days. How long B alone would take to do the whole work?

' . 1
(A) 23%days (B) 25 days ] . © 37§days _ (D) 40 days
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R @ AB,C,D FTHEEE 4: 3: 2: 1 F FIIEH C X 1000 T D w1 9 IR W A R
ST i 06D ? '

A sum of money is to be distributed among A, B, C,D in the proportion of 4: 3: 2: 1. If C gets
RS. 1000 more than D, what is A's share?

(A) 2500 (B) 2000 (C) 1500 (D) 4000

] = S o erge | " :

Choose the figure which is different from the rest.

; .
DG | N | AN
/501 314\ | /5 51
mmmmmmmmmmﬁw@mwmm
TR TR W I 9 e |

Group the given figures into three classes using each figure only once and select the correct
grouping using the code given below. :

£
4 5 6

OV |—

">t
>
IS (Code)
(A) (9,8,2):(7,6,3); (4,5, 1)
B) 9,8,3);(7,6,2); 4,5, 1)

(©) 9,8,2);(7,6,1); 4,5,3)
D) 9,8, 1);(7,6:2); (4,5,3)

er with Explanation

(D) |wfa =afea =T 2004 T HANT 9 B

(C) | FaAY=T A" 1Y SR 8 fhafs o9 SHR R 79 900 311

(A) | =& e ™™ 25 HEFHeH IE1LTH 10
(25-15 = 10) 51 &

(C) | fe formmeff = 10 e faemeff = 90
Al o = (90-10) =80 SFT1

(C) |Yawn (38 TH) 3% ¥ fasmi Twafeyd 11

(A) |WXY

H+5=M R+5=W
I+5=N - T S+5=X
J+5=0 : T+5=Y

2

o e b
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PREDICT

(C) [CONCEPT FRIEND
unmulqr ysglmt . gsltgur
8. | (B) l '
80m
- e 60m<— —I—>30m<——-
90m : l‘
- 20m
_ oLof
9. | B) |——>aA B
| |
21 20
L 28
7'l 204281
AT = 47 ST A 1B S YA 47 -2 = 45 5
10. | (B) G
11. | (©) |7 sfeidn si) g
Tx2+1=15 9 a7 -
15x2+1=31 G ED|
12. | (D)
13. | (B)
D
C
B
i
14. | (B) |1xb = e &%el
l+b = T 9E -
12x9 = 108 (12+9) =21
18x6 =108 (18+6) =24
27x4 =108 (27 +4) =31
s Wafra T gen =28
15. | (©) |9o==
16. | (A) | T3 Arrow eIy SITg 94 1
17. | (B) |Right side %I o=t e, sfrereht o top A1 T Left # f9 Down =1 w3 g1t |
18. | (O
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19.

(B)

301 W1 HH HHRA 1260 W21 T8 FHREA % FHA

10416+14+10 50 1000
8+10+16+14+10+542 < 100=gs * 100= 743~

=76.92

20.

B)

50 34

~= x 100 =76.92

%5 &5 X 100=523 7692 -523=246

21.

®)

zﬁ@a@aﬁfﬁﬁmm (m-1)= 30 1=29

22.

(B)

fe s = x A

or, x+3x+44 = (12-9) x 60 fiFe
or,4x =3 x60-44

or, 4x = 180 -44

or, x =34

23.

(A

25872D12AIM6
=25-72-12+1x6
=25-6+6 =25

24. |

(A

15-(3x2)=9 20— (4x2) =12
14— (4x3)=2 : 13-(5x2)=3

25.

A)

Series AT 12345 95 6, 8 I8 M YN &N |

26.

(B)

67x2+35x2+6x3  134+70+18 222 3 15
2+243 o 7 e

27.

©

A 80% 1 20 femmn 7|

A 100% % 25 T 18 |

A 1B & 20% M ¥ fewn w1

A TB & 100% &M 3x5=15 femmn m&q.1

AtBﬁlﬁamTlg FH I G5 |
Aélﬁ.’vm-l— FH TS|

D53 7 95
B TR 1 e 7 1525=75 =75 =5 1 H WO |

28.

)

Nﬂ%éX‘WﬁA:% B=3x C=2x -D=x
7l weAae C-D = 1000
T4, 2x—x= 1000
9, x = 1000
A =4x =4 x1000 = 4000

29.

A

12345mm mwaﬁmAﬁamamqaﬁéAﬁsr@m

30.

(B)

(9,8,3), (7.,6,2), (4,5,1) TUi Farst 1! &= HI2H), F UGS THEFTH TIE |




497

Attempt all questions (20x1)= 20 Marks » :
Read the passage below and answer the questions that follow: <

Ordinary men and woman are, for the most part, aware that there are many matters as to which their own
personal judgment is not wholly trustworthy. They look about the world anxiously for founts of wisdom,
and by placing their trust in them they arrive at a comfortable certainty. Savages trusted the medicine
man, who by slow stages developed into the priest. The priest is being succeeded by the physician by the
man of science. The man of science in general (though there are honorable exceptions) is nothing loath to
take up the position which the public offers him. He is willing to make pronouncements about the laziness
of the wage-earning classes, the superiority of the Nordic races, the eugenic superiority of the rich, and .
any other topics that may at the moment be of political interest. ) .

For the genuine man of science I have the highest possible respect. He is the one force in the modern
world at once genuinely constructive and profoundly revolutionary. When the man of science is dealing
with technical matters that do not touch upon the prejudices which he shares with the average man, he is
more likely to be right than anyone else. But unfortunately very few men for example, every male student
of the human brain is persuaded in advance than men's brains are better than women's. When is was found
that the average weight of a man's brain is greater than that of woman's, this was held as proof of his
superior intellectuality. When it was pointed out that of woman's brain is even heavier, the eminent
scientists scratched their heads since they could not admit that their wits were elephantine. Somebody
suggested that the important thing is the proportion of the weight of the body. But this has a disastrous
result: it seemed too show that woman ware, on the whole, cleverer than, men. This would never do. So
they said that is was not mere brute weight that mattered but delicacy of organization. As this was still a
matter conjecture, it could be assumed to be better in men than in woman.

Questions:

1. . Which of the following statement carries the main idea of the first paragraph?

(A)  Ordinary men and women are aware of the inadequacy in their judgment.

(B)  The man of science makes statements about the laziness of wage- earners.

(C)  The scientist of today tends to make pronouncements of political interest.

(D)  The medicine man ultimately turns out to be a scientist through slow transformation.
2. According to this author the genuine man of science is: :

. (A) At once genuinely constructive and profoundly revolutionary.

(B)  The one who is willing to make pronouncements about political matters.

(C) ~ The one who thinks of himself as superior to others.

(D). An impartial man without prejudices.
3. The fact that man's brain is heavier than woman's proves:

(A)  Man is more intellectual than woman. ,

(B) . Any animal whose brain is heavier than others is more intellectual.

(C)  That human wits are elephantine because elephant's brain is heavier.

(D) . That it was simply an assumption which cannot probably be justified scientifically.
4.~ The reason for the statement that personal judgment is not wholly trustworthy is:

- (A) That many matters have scientific grounds.

(B) That man's wisdom id faulty

(C) That a man changes through time

(D) That the people of wage- carning classess are.
5. The scientist cannot be perfectly scientific because:

(A) He or she can have little knowledge about the world.

(B) HC or she 12 3 nereon of ctronoe fenlinao
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(C) He or she follows something on the basis of imps2ssions. *
(D) He or she is skeptic and thus never arrives at conciusion.

Vocabulary Questions: ~ .
6. The word "pronouncements' in the above passage ieans .
(A) Discussion (B)- Debate ~ (C) Siatement (D) Argument
8 The phrase 'by leaps and bunds' means
(A) Slowly (B) Very rapidly (C) Obviously ; (D) None of the above
8. The word iunately’ means’ : '
(A) Manage (B) Quickly . (C) Casually . (D) Very closely
9. The antonym of the werd 'Trivial' is : : 3
: (A) Useless, (B) Significant (C) Insignificant (D)- Careless
- 10. - The synonym of 'apparent' is ' :
(A) Reluctant =~ (B) Unwilling (C) Obvious (D) Dark
11.  The synonym of 'ominous' is ,
(A) Wonderful (B) Threatening {C) Exciting " . (D) Enthusiastic- -
12.  'Altercation' literzlly means et : i
(A) Alternative  (B) Hate _ (C} Quarrel (D) Active enmity
13.  The delegation cumprises ...... nine men Jers.
(A) In (B) Of - (C) Up: o (D) None of the above
14.  Which one of the following is correct English expression?
(A) No sooner had the rain stopped t1an the guests arrived.
(B) N> sooner had the rain stopped a; 1 the guests arrived.
(C) Nosooner had the rain stopped then the guests arrived.
(D) No sooner had the rain stopped but the guests amved
15.  The teacher as well as her assistant
(A) are absent today (B) is absent today
(C) is present yesterday ‘ (D) were present yesterday
16.  She employs a maid to do
(A) either the cooking or washing for her family.
(B) not only the cooking but also washing for her family.
(C) neither the cooking nor washing for her family. .
(D) both the cooking and washing for her family. _ 4
17. 1 wish the speaker
(A) Elaborated on his expenence in and dedication to teachmg
(B) Elaborates his experience in and dedication to teaching.
(C).- elaborates on his experience and dedication to teaching.
(D) elaborated his experience in and dedlcanon to teaching.
18. . Take an umbrella, in case )
; (A) It mightrain - (B) itrains (C) it will rain (D) it should rain
19.  Which article can be used in the sentence "She left..... hour ago" :
(A) a . (B) the 7 (C) an : (D) None of the above
Which one is the correct English expression?

(A) Mary has been living in-this house since long ago.

(B) -Mary is living in this house from her childhood.

(C) Mary has lived in this house before it was built.

(D) Mar had hved in thxs house before she moved into thlS focalxty

[2.(A)  [3.(D) |4.B) |5. (C)

111 (R)

T4 (A 115 (B) 116, (D) 1'7,,.,(1) 18. (B) _[19.(C) [20. (D)

112 (Y 113. (D)
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q.

TEAHT Y T W TS 2

% mmmmm TCHI TS |
R- THH! YR T 9%30 HT STYFH T T R00¥ T ATTHT O forddt |
3. T WSt dehafs were 2few 10 2fF 20 f @)

¥, STETel S SSH g TR 3R
(A) &S & “(B) 9 7o

FRITS e

(a) SHR THEA '

(b) gAITE TS e

) fafrmswem -

(A) a2b-3,c-1, (B) a3b-1,c-2,

(C) 132%&E D) 374 TE

' mmmmmmwwmmmmmn
- w &

1. ogasTa wifafus qen snfyfs ggdm

2. e T ferem

3. g Ui S faaw

(C) a-3b=2,c<}k, . @FM-1b-3,c-2

mnwntﬁamﬁaﬁa@mvmman :

wE

(a) Nﬁﬁﬁ?ﬁm
(b) IR oW Hiea
(c) e g HfY g

’ ~(d) HIH TLHNT TTiE0 SRR

(A) a-2b-3,c-4,d-1
(©) a3b-2,¢c-1,d4

g .
1. AeeEve

2. Tl

3. &=m

4" R
(B) a-1,b—4,c-2;d-3
D) a-1b-3,c-2,d4

Antiretroviral Therapy (ART) Emmﬁtﬁt'& ?

(&) e (B) T
Geiger Cmmter WRIRY?

(A) TIPS A T

(C) TaRITARNTT -
“ agEfiE famee far qﬁtmﬁﬁﬁmv
() =ed srfaa

(C) I Sire v

Be T e e R
wE1

(a) B

(b) Fre

(c) R

(@) &

(A) a4b-3;c=1,d2
(C) a-2,b4,c-3,d-1

(©) *zwrs‘ﬁ@a (D) wiAE

: (B) mmmﬁm

(D) Wy farfestor A7) 7=

(B) SSwEE -
(D) IRH HTd TR

WRI
I ufedeE

2. - i e
3. g s
4. < faw
(B) a-3b-1,c-4,d2
(D) a-1b-2,c-3, d-4

ﬁwmﬁannjﬂmmwé’tmml

1. TR sfe werE e el veen gt A= A

3. amvﬁmwﬁahwwmméwaammm%amfmn
3. OB 0 TORE UvEE Jure STRITRTETE ot Ty TR
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RN
(A) FH1,2 I3TATF (B) W 12
(C) FHF2I3AHIF (D) 1,213 FA @

mmmvﬁmwwmmmawﬁtmﬁmmﬁaha

IR N G FEH D ?
A) 5 e 37 (ST i Tzafa)

(B) TS 2 (HT T AT Tegaf)

(C) AT AT (ST TR
(D) TR 3 aree (Fafrar weafa) _
YT T W TS <.c.ccovvne TATARH S TR TEARK ... TG T R

" (A) 111/New work ; (B) 19/ San San Francisco
(C) 111/ San Francisco (D) 19/United kingdom
AT A5 FAaIe T BRICS () | acm g d?
A) =fmafes - (B) wfEmH (C) it D) foe=
A oot SRIO TRTE Teeened Yured @ W uften G T T R 2
(A) M (B) STEIRST - (C) W (D) FAHMTRME
TEHT HYTREIR (TR THerd T Tel IR SR |

Q. - 180° Qe iz fooft @ w1

3. ol ya ST YT A HH IS B |

3. e e fimfas fa 2| (GMT) WEFs |

¥. T HEE TOR GaYT 3 TeE A | e .
(A) 1,2 45T (B) 1T49H (C) 1339 (D) 2,349

@maﬁwmmﬂ%mmmm ....... !
(A) 9B (B) w®
(C) ufeet vt w8 TUfs 9 | (D) dfest @iy s FEufs =S |

- T RS w sA w2 g
(A) ni faes (B) Uit Sue! Armreal faes
(C) =wmies faes (D) g foes
afza gan TR TE, 093 W SAE TATEH Tl TSR HYrE HaH TR B 2
(A) T AH (B) W.UI AU . (C) S.gWTIE (D) T.fomama
mmmmmmsmmmmmmn@ﬁm
(A)  September 25, 2016 _ (B) November 25; 2016
(C) November 27, 2016 (D) November 30, 2016 .
T SR Tfeeh HeeT T I S A ..... O RE G ?
(A) T (B) dfesmm - (C) ™ . (D) ¥TE -
SRR Tl T ST Tt i Seiadel e W TR 2

. (A) 274 (B) 287 T (© 293 (D) 304
World Happiness Index, 2016' % Wfaaia AFER At it 3l S=H 968 ?
(A) 105 ) (B) 106 (©) 107 - (D) 108
[ HEETE G 2014 T SengE! fashed faspiea g1 2 m 3 AR i flu e § 2
(A) "= (B) = :
© f= (D) e Y AR

mﬁﬂmmwmﬁmﬁm ?

e Pt LD TR | ek e
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Tl 557 Wit 79 LPG =1 590 W e 2 .

(A) =g ‘i (B) - ©) faom (D) Toemsfem
oot wg@ arRAs) gERRE ORI S G BE R 2

(A) -9 §IR ,FAR(GF 9, T51 99 TR, =ferr = |

(B) =fayor < IR, FRIGTA WK, T A 6N, 5 W

(C) sfequr =i §rR, FaRfas 9IR, Y9 OR, g& 99 TR

. (D) ~H¥ 9FR, i = 9rR, G 19 90R, FRiEEd R

SEIH FT T T T e Sege )

1. HifReTE R gl S Sea 1942 m’;amgm‘q@‘éx
. T sg=fda T&®! 99 A Brief Story of Time B}

3. T e SR Presidential Medal of Freedom & 957H & B 1
¥, 3 g e fufeq

(A) 1'T2 3= (B) 2743 (C) 1¢33= (D) ufomad

T T e TR A 9o five SgeR fras g vl 5 2. Ak
(A) ®EF > ST > TRSA> AZIH (B) Al > e > TRSS> AR
(C) TRISH > FTaA > TESSH > AfFTH - (D) W>W>W>m
Trd. 085 = SHIVFT AFUR AT S AR TS ST ?

(A) 8.1% (B) 8.5% (C) 8.5% D) 89%
3 mmm%ﬁnm?;? ;

(A) FAECIE & (B) IS &M (C) Wwdw - (D) aﬁm%ﬁ

it fowre @eg (Sustainable Development Goal) S8R o= 17 51 ssgeeqsy 4 ........... ka0

TS | :

(A) aﬁmﬂﬁaﬂmnﬁww '

(B) I &N T U QYR TRHT

(C) THa™ds o e gfafeag T weememr

(D) § AfeeT a1 ATITHREH SF T T

TEH! TARAS T W T SR |

1. FAgEfes Foar! fay fvees! s o

2. Rane Earth Bubble®! 37% T YRl w01 S e

(A) 19 e (B) "2\ T (C) 13233 7Tem™ (D) 1312 T3 7Ted 99

T 1T 1 e s X reae vt mmﬂm

EI TR
(a) Wfzae Wawe, 1987 (1) TEREUE 7 Sfaewen! w0 :
(b) Bonn®¥H, 1979  (2) TIFTHRE HIER (Waste) P SUEEHT ST 53 SGRIGR F7 T
(c) oHE FHTA, 1989  (3) 3o &I deeT -

(d) TESAFIM, 1998 (4) mmzmmﬁmwm

“HIE (Code)

- a b [ d
A) 3 1 2 g
B) 2 34 L+
© 1 4 s g
(0} T SERR NP 3
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mﬁz@mmmmnﬁ@mqﬁaﬁaﬁqﬂﬁ(Assemon)maﬁaﬁm(Reason)
qﬁ@anmﬁg@mﬂﬁmmmmmml

YR (A) e Taehrsh) @ed WrE T SEEe (Inequity) émmmn
Fro (R)  Tasrasia g s@aEd (Inequality) ST S |

(A) ¥R (A) THFRU (R) 3 Ik A

(B) T (A) THRU (R) T IF B THAW (R) ix (A) ﬁaﬁmmﬁl
(C) ¥ (A) FBW FRU (R) TGS | :

(D) B (A) Tad BW® FRU (R) 36 B
ﬁxaﬂﬁaﬁwmﬁwiﬂﬂ7

(A) =fE, mwmaﬁsa@amqamm

(B) Wmmmwﬁmm

(C) s fram 7H,

(D) mﬁ%q@m@mﬁmﬁaﬁwmwﬁ
mﬁoﬁwmé&mmm@mﬁﬁm37

(A) wH EE : : 3 B) mtram

(C) e gega A ’ (D) i FEE
ﬁ%ﬁzﬁm@@%ﬁmﬁnﬁw@%ﬁf@ﬂﬂw%a2

(A) 3ot o e . (B) et sTeyr e . '

(©) e T e 9% (DY faummﬁasf—vr

e SRS TS AR A Seee e R 2. ;

(A) fad.9qes . (B) faE. 9’3 (©) fad.q:Re (D) fad.9:ks"

mmmmtmﬁmmmu
1wl Setaea A aEgEH! e 19S, mmaﬁzmmman

.3, mﬁimﬁmmmmﬁmml

3. mﬁam%ﬁmﬁmma@mmﬁmw|

4. VOIP®1 T Video Over Internet Protocol ¥ |

(A) w33 (B) 12133’@ C(©) 1143F=H "~ (D) 213fsw

. T WAEET 3% o1 T @ 8 2

1. ©2014 mmmmamamqmmm@m.
2. mmmmﬁmma. ;

(A) 131 2 eI (B) 1723 (C) 1T 27m™ (D) 112333=
TR ST SR S g ? N '
(A) 3o fewa (B) FrmwRMEEE (C) FHRd (D) HeE
AR HACERHH! qeTel Yage o '

(A) TEEE T (B) Wal=H AQTeTR! =TT

(C) T Qe SRR A - (D) g=EEEE

. I A A e HATGRH GRS ?

(A) bacd -(B) abcd (C) cabd D) ac'bd
Aqrern! Yiee ‘T Wi ) afeTT Sl M S ? )
(A) UTeTR! TG SEETH! T e, Foraresror T wsaTeE T Sfaer T wifw Bl
(B) = TSH HrEdIfere, STereefiyeRT T AT T SR I ufd o |

. (C) T hruIfere!, T, mzmmmaﬁmmmau
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mmmmmmmmmmmmm
(A) 42% (B) 4.7% L) 44% (D) 4.5%
rafefeaa woeen Vg v e 2 :

1: mmmmmmmm@zmmwn

2. mﬁwmmmﬁm,mtﬁmﬁmﬁwm_sz
3. I I i R ATEE T Hrewen TR i 51 '

4. AR AU AREEH! Th agSiedd Ws U Y

(A) 1339m (B) 1349w (©) 12,3493 (D) 199
TR WAREE Tl A W) 31 2 : :

(A) e feaee FRarseT ge SuERE 9IS | : :

(B) WA= ufem qudat uw sfaw yefed 51 :

(©) mmmwuﬁmw;mﬁml

(D) 5T fafy st ferdare fasm s 9 -

AR T e fa 9 g 2 : :
(A) g (B) g © = (D) - rgH
T TSTh! TR TS AEHRT 8 T4 T GO S S s 2

() ARETI AR (B) sy sem fde (C) SIFERTEE (D) s

A ST SUFTATE T RIS g 71 v = o 2

(A) Kwan Youn - (B) Tang Siya Woking (C) ‘Kim II Sung (D) Sang Chang'Ling

-, T HYTEE IF o O g IR |

(A) ¥4 hif=1 SRR 1917 |1 Y% HUH! o ‘ i
(B)‘wmmmmmmmzmmmmmw
(A) 112333 (B) 12 @REF (O 1IFW2E* (D) 23w w1 We

| e fawey SRR

L Sy ferssdiea 3fE & 4 avf 18 s wegy for |

2. rafeafs weerr 4 391 T 64 ST farser

3. YR wed 4 9 136 WM W TSRO TR

(A) 39= (B) 132 A (C) 1339m (D) 1,2338

R 1 1 S s ge T A e e v T wd e s L

g g
(a) wea T ; 1. et
(b) . FF =T ; 2.  HOUE SYTH
(c) wmEEY. _ > ' 3. 9w

() EETH 4.  TR@Er

(A) a2b-3,c-1,d-4 (B) a2b-3,c4,d-1
©) a-2b-1,c4,d-3 D) a-3b-1,c4,d-2

3. (D) (A 3. (B) ¥. (C) " 4.(D) ‘

% (C) ©. (B) : 5.(B) : R.(B) 0. (B)

1. (A) R. (D) | W®© " 9¥. (A) 1%. (D)

9. (C) qe. (D) 95. (D) | 9. (D) 30. (C)
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3. (A)

RY. (C)

9. (A) R (B) 1-3%.(0)
%. (B) R8.(A)” 5. (A) R (C) . 30. (B)
1. (A) R.(B) 3.(D) 3¥.(0) 3. (A)
3% (A) 39.(D) 35. (D) R.(B) ¥o. (A)
9. (C) ¥3. (B) ¥3.(B) - ¥¥. (D) ¥¥. (C)
¥%. (B) ¥e. (C) ¥5: (C) . (€) - %0. (B)

Tt AT H SO S e s TR e e Regei 8

The following table gives the sales of batteries by a company over the years. -

0§ (Year) e YR (H& g5 (Types of Batteries (Number in Thousands))
10AH 35 AH - 50AH ~ Total
1996 126 84 126 528
1997 114 105 135 5252
1998 160 45 120 " 495
TS 1996 T 1998 I fersh! WUHT 35AH SAEIEEa! G =1l Hfd & ? ;
What is the difference in the number of 35AH batteries sold in 1996 and 19987
(a) 24000 (b) 28000 (c) 35000 (d 224800

T R WA TS I 94 1995 3R 2001 o Pt TR I W = e T

iR TR AT RET e 2

The following line graph gives the ratio of the amounts of imports by a company to the
amount of exports from that company over the period from 1995 to 2001.
' Ratio of Value of Imports to Exports by a Company Over the Years.

11995 1998

Years

1999

2000

TIeT 1997 S1Z T 1998 HN SRR gigt s wh S ?

‘What was the percentage increase in imports from 1997 to 1998?
(a)

72

(b) 56 (c) 28 (d) mmﬁ
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3. o= wfesm 5 =twe wf i aoe few 3

_The following table gives salary of five persons per month:

Afh (Person) Uit AfZATh! T %. TSI (Salary per month —in Rs. thousands) -
A ; 853 .
B 7.6
C 12.8
D 54
E 10:5 :

SR T < R e ST B i (3. €SI B 2

What is the difference (In Rs. thousands) between the average salary and the lowest salary?

(a) 4.56 (b) 4.06

(c) 3.65 (d) 3.56

=1 3 v o Pl (Direction for the following 3 Questions 3
F R 2,00,000 S T B qoTg S e e

Consider the following data in respect of a town of population 200000.

W HHE (Age Group) gfaemd (Percentage) ]
15 94 W9 (Up to 15 years) 28 % £
15 2f@ #1fa 20 FEERT (Above 15 and upto 20) 16%

20 <R A1 30 I (Above 20 and upto 30) 10%

30 =& #f% 40 997 (Above 30 and upto 40) 12%

40 3R H1fa 50 ¥ (Above 40 and upto 50) . | 7% 52

50 59 | (Above 50 years)

Sieh! FfaRTd- (Remammo percentage)

4. A 15 THEH! IR THEH! ST 10% < 15 20 20 mwmms%

ST ST i SR R S ?

"If 10% of the population in age up to 15 years and 5% of the populatlon in 15-20 years group
are litertes, then total number of literates is:

(a) 7,200 (b) 9,600

(c) 11,600 - (d 30,000

5.l 50 o SR AR 20 % SFREA TR YT Hi WS WER 5 ?
if 20% of population in the age above 50 years are literates the number of hterates is:

(a) 10,000 (b) 10,800

() 11,200 (d) TRt A B

6. ﬁﬂmﬁﬁﬂﬂaﬂ'ﬁl Consider the following statements:
(1 303&%?@@@1%%303&%%@@1@%@3@31

(Number of people upto 30 years of age is more than the number of people above 30 years of

age.) -

(2) 2099 w=T A T40 mmmmmnooo Bl
(Total number of people in the age group above 20 years and upto 40 years is 42000. )

iR FYw AW R/ 8 ? (Which of the above statements is/are correct?)

(a) 197 (1 only)
(c) 1 T23 (Both-1and?2)

~

(1) A thinLad
(2) AlasIMay
(3) 0Oil A Comb

{(b) 24 (2 only) :
(d) 132 %79 &7 (Neither 1 nor2)

frafafes visses s =R TR | Consider the following words:

mﬁmwﬁm@mmﬁm@ﬁmwwa 2

vv hich word below has a ieature in common with ail ihe words above?

(a) A Noble Car

(b) Bag Handles

" (c) The Panel ~(d) Bull Mare
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™' & Y 7 g wE s e uied 4 T 40 i i wree w= 9w ) ol i oMY

' mmmmmmmm@m 1/5 qmmaaga \ﬂ@tmsﬁ

el e gem wreeTn g wht () o 2

'M' can dig a trench 40 meters in depth in 4 days working equal hours for a day. Next day
morning and every morning thereafter he finds the one fifth of the net depth-as at the énd of
the previens day has got filled up with the mud agam What was the depth of the trench in
the begixzning of the fourth day?

(a) .28 mote (b) :26.4 meter (c) 24 meter (d) 19.52 meter

o woee FraR THR | :

Consider the following statement:

(1) A,B,C,D, ETF 9% 6 TSg% 31| (There are six villages A, B, C, D, E, and F)

(2) F,D #11 T 9 =@ s | (Fis 1 km to the west of D)

(3) B,E #1TE. fAg@ms1 (Bis ! kato the east of E.)

(4) A,E® 2 {5331 (A is 2 km to the north of E.)

(3) C AR 1TFEHENSI(Cis 1 ki to the east of A)

. (6) D,A%1TEHIROMEIS I (D is 1 ki to the south of A)

A o TSEE T T @A € 7 (W1 ich three villages are in a line?)
(@) C,B,F (b) E.B,D ) ACB (d A,D,E

o] W] STETEeR! S o g aen 1 X 1 Wi v B 2

How - afficient are statements I and' 1 in answermg following questions?
Question (9%9) :

' aﬁﬁaﬁmwm 2 (How many children does Sabin has?)

Statements (¢9) :
() X 1 el SR”1 H, Sfaaet simdt 311 (H is the only daughter of X who is w1fe of Sabin)
(I KT afawer 9Ees &1 (Kand J are brothers of Sabin.)

(a) YA TI AT GBI (I alone is sufﬁcxent)

(b) 3R 9% A 94 B | (11 alone is sufficient)

(¢c) T¥a=I& I THemSsr waiw & | (Both I and II combined becomes sufficient.)
(d) =9 I TaA 11 §4 97 9aT@ 891 (Neither I nor I1 is sufficient.)

- 7@ Rzt fome T U SR &1 V SR S1gel U TV gaee T qieet FarT Wo o 99 m'hn‘ '

TREA A S I T W1 g7 T T AeeH! W SAuHaH R ES 2

With reference to the figure given below, What is maximum number of different routes from
S to T without retracmg from U and/or V?

v

(a) 6 _ (b) 9 (c) 18 d 24

6 S TefiEe T el SR Fes PER g7 T et o | few, wehner T ey frmmn st o)
mmzmmmmnmzmwmmmmmmac
WS ?

Six friends are sxttmg in a circle and facing the centre of the circle. Deepa is between Prakash
and Pankaj. Priti is between Mukesh and Lalit. Prakash and Mukesh are opposite to each
other. Who is sitting right to Prakash?

(a) §HI; (Mukesh) (b) UHS (Pankaj)  (c) wferd (Lalit) (d) . fafa (Priti)
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et T T 15 e w58 | 3 T T 18 e S | 36 wud ks 24 AR 9|
w&a‘mmms onﬁwmmﬁmmmmmmmm

| w2

First bell rings every 15 minutes. A second bell rings every 18 mmutes A third bell rings
every 24 minutes. If all the three bells ring at the same time at 8 o'clock in the morning, at
what other time will they all ring together?

(a) 11:00 hrs (b) 12:30 hrs {c) 13:00 hrs (d) 14:00 hrs
mﬁzw@aﬁmiﬂm SIS Vel 2 What number will replace the gquestion mark?
289:272:361:7

(a) 298 (b) 335 (c) 342 . (d) 378

Tegaa frareaee nedame Sifews ¥om X' 9= TSI |

Find the missing number 'X' from the given responses.

o
%sY

@@ 6 () 8 © 16 (d) None of the above
Fepafefas s vt (2) Thes sk S arde 2
What will come at place of guestion mark (?) of the following series?

6881268612368812346861234568?
(@ 8 () 6 ) 4 @ 1

TR ﬁﬁmﬂ#sﬁam‘th%‘Tmmnﬁr e a1 g wRte o

M T Wia &7 ARen 2

Ramesh can do a work in & days. If Ramesh and Suresh together can do the same work in 4—

. days, in how many days can Suresh finish the work by himself? .

(a) 4 days (b) 6 days : (©) 8% days (d) 12days
T s 9 (2) ThEeE) SR S ads >

What will come at place of question mark (?) of the following series?.

- B e
g 9 E
Hﬂ . - 3 T =
& 6 F1 3w fasfm g S den s 2
“Which number is on the face opposite to 6?
6 5 5 1 ¢
§: 2 1 e s 14| 4 |2

@A 5 3 @y 2 @ 1
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% = Sfew TvE R ?

. Which is the missing section? )

o (o) |

(e S
@ .V ' A B @c D
e Pt (x) T R e P R AT SRR

Choose the water image of the given figure (X) from among the alternatives.

Lal |af | |a° A N
gl B Al Al 4

[ ] [ ] (] [ ] [ ]

X (A) (B) ©) (D)
mmmmmwmmmmmmzmmm
AT T T W S e |

Group the given figures into three classes using each figure only once and select the correct

" grouping using the code given below.

1 2 3

CRBRIA)
TS (Code)

(a) (7 23);(4,5.6);(7.89) () (1.4,7);(2,5,8); (3,6,9)
©) (1,4,7)(25.9); (3,6,7) (@ (1,3,4);(2,5.8); (6,7.9)
aa fegua feemn wfvea B =1 ?

How many triangles are there in given figure?

@ 8 : ® 9 . heY 10 T Y

TR e U @ ege | Find the odd one out. , '
(a) ‘Lactometer ~ (b) Voltmeter " (c)  Diameter (d) Thermoneter

VI TR SR WU feneiaeasd miae 29 S e 1A 16 i S W) $1 7R 8 S
feren=iies Toam Teurl 7 T 6 S %wﬁmmmﬁmﬁﬁ ? ‘

Among the passed students Shyam is 29" from the above and 16" from the below. If 8
students were unable to partlclpate in the exam and 6 became failed, how many students are
there in the class? *

(a) 45 : (b) 51 (c) 58 (@ 359
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26. 4mﬁammﬁ%ﬁm345°mggﬁmmt%ﬁmmm°wtm
© 270" wfer g g oot ferfia Reamn v w3 sifi s g0 Ry vl s 2

A boy is facing north. He turns 45° in clockwise direction and then turns 135° in the sam«
direction and then 270° in anticlockwise direction. Which direction is the boy facmg nov?

(@ = (b) f¥=m ' (¢) Bfgu-gd- (d) - -
27. ﬁmﬁmmaﬁaﬁ@a Whlch is odd one on the following alternative?
(a) sow (b) buck (c). boar " (d)  stallion '

28. v fom (2) TRaus! 391 F7 AR DIFETH S ? What letter is missing on the place of (")
DFROIOND?
(@ F : () H ©) K d o .
29. FRIEND ¥K %€ WS HUMJTK A& WA =l 911 91 CANDLE @1 %88 @ - T 2
If FRIEND is coded as HUMJTK, how is CANDLE written in that code?
(a) DCQHQK (b) ESJFME (¢) FYOBOC (d) EDRIRL
130. 95862 F1714,3498 H 1113 T9516 HY 156 TS W 7835 R FMFS 2
' If 5862 is to 714,3498 is to 1113 and 9516 is to 156, then 7835 is to .... (€9)
(a) 1212 () 1211 () 1112 (d) 1122
er with Explanation vk
L. 1 (d) | |7 1996 1 foisht YT 35 AH SRS §&IT = 54,000
T 1998 1 forshl WUehT 35AH SHEEEH! H&T = 45,000

: ﬁmmmfw 84000 — 45000 =~ 39,000
2. 1@ | '
. ] . 8. S+ 128545103 _44 : .
3.0 @ WABCDE?WW— 5+7. +15 +54 +10. 58—8.96 ‘ .
373 SR T T g AT o T = 8.96 - 5.4 = 3.56
' 200000x28
S @ | e 15 T s e SEET = 200000 9 28% =—O£]—OOL_56000 |
3 ‘ 1 '
Tl TRATFER 56000 1 10% H&R &4 | -, 56000 xTO%=56OO
R . : : 6 .
THIIGER 15 M 20 THEIHT I THISH! SHEET = 200000 i 16%=200000 xfm: 32000
T8l YTAIER 32000 Y 5% TIeR 4 | ‘
32000 x 725 = 1600 S WA TEA = 5600 + 1600 = 7200
2 LB} 50 T FIfHT SEE = 200000 1 27% _200000755_54000
379 TR 54000 1 20% TER B! 54000 X = = 10800

100 ~

6. | (a) |=rel 30 T e W S THEH! ATHH WEA 30 THT b S THEH] AT G 98 T |
_mzoaﬁwmfauoaﬁmﬁsﬁmuﬁmmm 200000 ST 32% FAHER
Bl

: 32
20000 =¥ 32% Wﬂaw Bl 200000 X

100 = 64000 a@é(z)@WWm .

7. 1 ®)

e

()]

9. | (d) aﬁﬁmmmmﬂaﬁ@ﬁﬁwmwlmmﬁﬁm
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1Km

Apm——(
1km
F-l—k—n-lD
Tkm
E lkmB
10. | (d) awnawuﬁqﬁm%a'lwﬁém(d)gﬂmﬁ:
11. | ()
12. |.(¢) mﬁaaéqﬁﬁammmnﬁaﬁwn
E Dipa
qg Pankaj !
Lali Mukesh - K . L
Pri mzmmwmmwa@m—aww@m|
13. | (¢) '
14. | (c) | =21 289: 272 & TMGTH! B ¥ T U IJ& oaf 172.=289/ 172 — 17 = MESH
TR el 197 = 361 / 197 — 19 = 342 g7 s | e 9d 39 30 )
15. | (c) mmmmmﬁmzmmmmm:
|7 g, 30 - 27 =5, 57 - 27 =21, 67~ 47 =20, 5° = 3% = 16 @ s ) i v
' S () i :
16. | (a) | ==l 688712, 686/}23 688 /1234, 686/12345trﬁ§@§:né IS A=A 688?’?4‘31@1%3?{“{(21)'@
17. | (@) A :
18. [ () |
19. | (d) 3 3 WMTMﬁgumm%ﬁq@maS (dice) figure HI 29 4 g5
L (2] o ] VST ¥RT S figure A1 6 SIRINTH B W 3 37 2345 IQRTH H | =
% 7 a3 TS TS A T a9 1 Sife 9 T TR 6 S
mamlmmﬁmmmaﬁésﬁﬁqﬁﬁ%m
20. | (a) M‘@%@m(a)%‘n
121. | (© THHT water image (c) 1 &1 SRS |
22. | (b) | 7= foe T 1, 4, 7ﬁmﬁmﬁgurem4aam§amz 5, 8 af s Tt T
Wmﬁgurezilaﬁfw3 69wﬁfﬁwmaﬁaéﬁgurem3aawfm§maﬁéa§r
IW (b) § IET |
23. | (a) | fesush! Fo=m 8 e Frvystes &1
24. | (¢) ’
25. | (c) wmmmfawﬁsw@maﬁamzwﬁtmmaﬁwmmmﬁwﬁ 29 +15=
! YT |
T W g TS fawmeft = 8 ST, TS e T Fereneft = 6mmﬁwaﬁssw
: aﬁémﬁm%ﬁssﬁ@éaéw(c)ﬁl
26. | (b)-| =rEent T3 T fewma® 99 = 135° + 45° = 180°° ¥
TEEH! G2 U fuRa fRuma® T =270°  ca, 270°— 180° = 90° : WC@E‘
g{aﬁwmzﬁgﬁﬁqﬁaﬁwm@ﬁmqﬁm(b)@ml !
' 27. | () :
28. | (¢) WDRINKFOODW#KmaHéW(c)@I
29. | (d) WW@E‘WM’T’?ABCDEFGHUKLMNOPQRSTUVWXYZ

FRIEND = HUMJTK

sl gy ata iRy W R B gty e B g B g Aty A 20
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T, CANDEL = EDRIRL & 338 a8 3w (@) A |

30. | (b) wsxawsssz:nmﬁgmwmzmrm-szssh%m, 3498 = 1113 &

TEHN 3 T IR 8 SR THTH 479 SR, 9516 = 156 TR 7835 = 1211 D A

Syntactical ability Questions

1.

Hfam(b)al
|

"Supply the correct prepeosition in the sentence" The conference arrived .... a firm
commitment." ' ’

(A) On (B) in (C) at - D) of

Which of the following Sentence is the best passive version of " Everybody uses English all
over the world?" :

(A) English is used all over the world

(B) English is used by everybody all over the world

(C) Englishis used all over the world by everybody

7.
8.

Vocab
9.

10.

11.
12,

13.

14.

15.

(D) English is used by all over the world in the gaps of the sentence "if you hit the ball ....... -
Which of the following can be filed in the gaps of the sentence " if you hit the ball ...... "
(A) it will bounce (B) it bounces (C) it would bounce (D) it can bounce
The active voice of "GATT" was established in 1947 is:

(A) They established GATT in 1947 " (B) They have established GATT in 1947
(C) The conference established GATT in 1947 (D) America Established GATT in 1947
Supply the appropriate preposition in " the individual nations were free to make
decisions..... the prescribed limits".

(a) at (B) on (C)in (D) Within
The doctor arrived ‘ )

(A) after the patient died ' (B) after the patient had died.

(C) after the patient was dead. (D) none of the above -

Supply the appropriate preposition in "'they established binding rules .... trade"

(A) of (B) in (C) at . (D) on

Fill in the Gaps with appropriate article in " There are developing countries around .....
world" . ‘ : : ;
(A) a ~ (B) an i (C) the v (D) None of the above

ulary - ; .

In the sentence " successive administrations have filed to solve the country's economic
Problem" the world ' administration' means .- :

(A) Activities . (B) "Process . (C) institutions - (D) governments

The closest in meaning of the world 'Captivating’ in-the sentence ** he found her very
captivating' is: S

(A) Sweet (B) -Peaceful (C) dominating - "~ (D) enchanting
The single world for "too ready to believe things and therefore easy to risk" is ...
(A) Credulous (B) Gullible (C) innocent (D) simple
The opposite of 'possible ' is :
(A) Unpossible * (B) Impossible (C) dispossible - (D) None of the above
'saturation point' means : ’ : - ’
" (A) The last point (B) Maximum absorbing capacity
(C) The inaccessible stage ' - (D) The unachievable point
The synonym of the 'dedicate’ is : : e
(A) devote ‘ (B) worship. (C) pray (D) surrender

The antonym of the world 'relinquish is: :
- G e STy e gragman PR oh e e e I™SYY Nanss
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eomsﬁmmmmmazm(mmM)

1

2..

e ¥ fafm R v R TR AR 2
~(A) Sydney (B) London . (C) Doha (D) Baghdad
- X i e T T S T S ? -

(A) 30 minutes (B) 45 minutes {C) 50 minutes (D) 55 mmutes

WW PR ERC] ‘ﬁm@ Wie & (Willandra Lakes Region) Fel SEfen 9 2
(A) TIHTT FBHT (US.A)  (B) &I (Australia)
(C) HZH ARSI (UK.) (D) AT (Germany)
memwﬁa@wa ?
(A) =H, R4, 9SS 3R, T (China, India, Saudi Arabia, Monooha)
(B) =M, Wra, Heiifersn, WSS 3 (China, India, Mongolia, Saudi Arabia)
(C) =, Hriifern, wRd, 98! 3R (China, Mongolia, India, Saudi Arabia)
(D) ¥Rd, WM, ESIE| A, Hrferan (India, Iran, Saudi Arabla, Mongolia)
‘Big Bang Theory' m@wma' ?
(A) gftes! Sl (Origin of Universe) (B) &= safd (Ongm of Sun).
(C) difaeremean f72 (Laws of Physics) (D) wfreht % 9 2BF (None of the above)
TeTah! WeH G5 Statement IETE TTRTH! B, YRS WAE (Assertion) T SIS HRI (Reason)
ST 9 1 ge e Rl Statement F THRAT S SR e |
S (Assertion) ToF TE GHEIE UNRI el WU IR A gY W‘cl'érm?ﬁif
{Though Venus is relatively farther from the sun than Mercury, it is hut.cr tkan Mercury) :
FRU (Reason): Wmmfwmmﬁa—asmmm mzar"ﬁam THE UH TR,

T T T

 (Due to the excessive amount of carban-dloxrde awallable in the atmosphere of the Venus,

green house effect has caused this.)

(A) ¥ (A)tm(R)g’é\mmzwm}éW(A)aﬁvﬁmwvrém
(B) w1 (A)tm(R)gémmvﬁm(R)ém(A,ﬁégﬁznim
(C) TR (A)SF FWHRU (R) Tas |

(D) YR (A), 7T B, WERA (R) IF B

e Feees1 e 7 I% T U WO W e o werer e ¥ av w@ﬁﬁt ?
(A) I 38 (Korean War) (B) TSR IS (Suez Canal War)
(C) 3UF- 30 IS (Iran Irag War) . (D) Y- T@H S (Peru-- Ecuador War)
Pt Terfiaa Humes 7l e B9 $99 EF U5 SIS
(A) Tz faeT= T 99 1707 |1 734 S0 fort |
(The parliament of Great Britain was formed in the year of 1707 AD.)

"(B) 'MY SPIRIT' TEie% Teeera St 2nenfia faamae == &1 1

(‘MY SPIRIT' is the name of autobiography of Adolf Hitler.)
(C) TERH! FE9YH =1 TN U5 Yeart W Rl
(The first newspaper in the world was started by China.}
(D) TEaT NI SIS “Toha' USSR 1 U= o7 farad )
(Before independence "Ukraine’ was a part of USSR.)
TR faﬁws%m’ (Indus valley civilization) SHAR........... ﬁmﬁﬁﬁ!@l
(Indus Valley wallzatmn, which is also knewn as the............ )
(A) ﬂ@m |¥ar (Civilization of Mesopotamia)



10.

11.

12.

13.

14.

15.

16.

17.

a. TEdearhl AfUSR (Right to freedom)
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(C) afgsw ol (Vedic Civilization)
(D) SelteM ¥ (Civilization of Babylonian)

el e TR FR SIE S ?

(a) AAfer@d (Nepoleon) : (1) 3% ¥ (Uncle Ho)

(b)y fo=® (Bismark) (2) LRI SER (Wizard of the North)
(c) oA (Ho Chi Minh) (3) = 3% SR=AT (Man of Destiny)

(d): A &R (Sir Walter Scott) (4) ¥ A% =TS TS 3z (Man of Blood and Iron)
(A) a4b3,c-1,d2 (B) a3,b4,c-1,d2 (C) a2b-l,c3,d4 (D) alb2c4d3
TG MEET TSEEH! NEHITH! 1 A el S ?

- (A) TER IR, T4 WIE, B9 WK, TH W®

(B) ¥4 G, B WIE, T WG, TH W®
(C) ¥4 Ve, ToR T, B AR, TH R
(D) B I8, A UME, TH IR, AR
forat favaeee R TR |

(Consider the following subjects.)

b. _'H'H@ i QTR TSIl T 3313 A9 | (King can not collect tax without permission of the
parliament) . : e :

c. TfEeTel HeTdHRe! STAN T T8 | (Women can get voting right)
ITIHHE FFATHE g4 fauaes Seifad g 2

(A) aandb ~ (B) aandc (C) bandc (D)  Allab,andc
ST el HeeE! AR S e 115 < it g el SEeH S S 2
(A) 26 B) 30 (C 35 (D = 41

ot el e v e RISt (Collective bargaining) STERIRTER ST e Tt ¢
Who among the following had used the phrase 'collective bargaining for the first time?
(A) Franklin D. Roosevelt ~ (B) Robert Owen

(C) Samuel Gompers and Friedrich Engel (D) Sidney and Beatrice Webb

e TR STEUR “SEER HEe AR g R e 2 ’

(A) Hereh tferehR =T (List of Federal Power)

(B) W AR FHT (List of State Power) :

(C) =l JfeR ?ﬁ"T (List of Concurrent Powers of Federation and State)

(D) TIg geh! AR = (List of Local Level Power)

7t fegw TS 3 A1 96w @ g 2 gt

a HEIE T gl oA TRl foe foee g

b, ARg foreem gt 9t T Tees WH S

c. A 2 g feues MEufe! fEH Wea B

d e 9 9 TEFTRITERTEE Wl B '

(A) aTb 3, c 1d 3BH (b) alcdF, bld BH

" (C) bicdH, aldWHF - - © () ald I, bilcWF

frafafes STRE TR WT@Q | Consider the following statements:

(A) ﬁmmﬁqﬁﬁm,2%3éﬁmﬁ9mﬁmm.wmmmm
(B) m,mm,mﬁm,mamm@mwwgm
(©) W T e 15 71 e SR feaw w1 |

2 R P e O WA SRS R, (L. S



18.

19.

20.

21.

22,

23.

24.
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AT HETEEHE A 3% g1 7 (Which of the above statement () is (are) True?)

(A) b, cTdHH (b,c and d only) (B) ab¥cHE (a,b and c only)

(C) bc A (b and ¢ only) (D) b¥dHAE (band a only)

T 1 TEE 11 < i e Wt ST SRR ‘

8 (Group) I YR (Group) 1

a. . Haufe ufugs! 95 (1) \Y SRR gerdtad

b, uftes gran uiugem! es (2) wEFEEIHEEI

c. O Tl AT HEH (3) TR GFESTR FAoRTEet e e ST
d.  IHuiugEe! 9es (4) wfafafy gl IT-a9HE

(A) a-1,b-4,c-3,d-2 (B) ‘a-1,b-4,c-2,d-3

(C) a-2,b-1,c-3,d4 (D) a-4,b-1,c-2,d-3

mﬁwﬁwgﬁmmwgﬁmmmm@mﬁ ?
(A) BRI, a5, g, 9 (Millet, Maize, Wheat, Paddy)

(B) M, Heh, Y, 7§ (Paddy, Maize, Millet, Wheat)

(C) M, T, nﬁm (Paddy, Maize, Wheat, Millet)

(D) YM, W), T, Tg (Paddy, Millet Maize, Wheat,)

10 3t NI 7O, 2069 F1 ATAR T4 T IEUNTEE Wbl Seen FA & 2

(A) FRHTE (B) Tu=E (C) s D) "
AT Tt U e o W ffet SRH B hH 3 S ?

a. T SMEUAS o fA. (Global IME Bank Ltd.)

b. U< 3% HRAE faA. (Bank of Kathmandu Ltd.)

c. Afae 9= fa. (Nabil Bank Ltd)

d. 9fted 9= fa. (Lumbini Bank Ltd.)

(A) cbda ; (B) cbad ' (C) cdab (D) cdba
<t Srerrn IR i S it Siea gfem =i afee ™ o Tz s 2

(A) 72% (B) 8.4% (C) 4.7% (D) 75%
-mmmmﬁmmmmmw@mm@ﬁmm
e freaRgRM | ,

e (Group) I : . - e (Group) 11

(a) #gwmE - (1) T

(b) ATFERR : 2) T

(c) WG : (3) gEa

(d) @R (4) HHAEG

(e) TR@ME _ (5) s

(A) a-5,b-1,c-2,d-4,e-3 (B) a4,b-1,c-2,d-5.¢e-3

(C) "a-4,b-2,c-1,d-5,e-3 (D) a-3,b-1,c-2,d-5,e4

"Trans- Pacific Partnership' TR TR FYEE 31, TG B G 2 WEH'@IRI
With reference to the "Trans- Pacific Partnership” find out whether the following
statements are right or wrong?) :
1. = T EY e TR A [eheshl SueEh] TRl B |
(It is an agreement among all the Pacific Rim Countries except China and Russia)
2. HYEE glen Tt WHias Srsherie! faws 7 2
(It is a strategic alliance for the purpose of maritime security only)
CAY 179 = 1 Rtk 1 oand D ara 1ohe) MY 179291755 (Rath 1 and 2 are wrano)



25.
26.

27.

28.

29.°

30.
31.

32.

33.

34.
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'Kikiki Huna' $ & ? What is 'Kikiki Huna' ?

(A) T e @R (A delicacy) . (B) SIird @I% el /AT (Tribal folk axt/dance)

(C) <Mfd (Tribe) (D) T3 (Insect)

TR SI0AT, 2068 HFER FIW<T FH TRERS! G G&T (Household size) w@ﬁiﬁmja ?
 (A) TAE (Manang) : (B) ¥ (Dolpa)

(C) FT=h! (Kaski) (D) H&IE (Mustang)

QEIH! T 31% BT 2 Which one of the following is Not correct?

(A) g IRETEF T Hed G2 §3 | (Growth is quantitative and value neutral.)
(B) fawrm@ Turs TRadaerl g9Es, §4 48 T-geReE &9 | (Development means a
- qualitative change which is always value positive.)
(©) dfs T fawm ¢t wsa wraEfy fise iadae 99Es | (Both growth and development -
refer to changes over a period of time.)
(D) THRHS qf:q T foshret w2 wHaEfy fiss wRadier 39REs | (Posmve growth and

development refer to changes over a period of time.)

- TR - 500 mmvﬁa‘tﬁqﬁfrﬁﬁ ?

(A) Hew=s Tt (B) T.ETH T

(C) 1. HWIFAR U D) . TE

mmﬂﬁﬁﬁ ? Which of the following statements are correct?

1. m I YA HZF{F'ﬂé faf¥=s I((Bhutan is known as the country of the thunderstorms.)
2. IIE 3T TS AReAErs Ao T sgfireifee 9998 | (The thunderstorm producing -

clouds are known as cumulonimbus) .

3. HHE 3 YHRA §1 oS | (There are 3 types to a thunderstorm) :

4. mawﬁzﬁ#wmmzolsm@ma@wmfmhmtwoday
international seminar on thunderstorms was_organized in Kathmandu in 2016)

(A) 1,274 W@l (1,2and4correct) ~~ (B) 1,2 3 W& (1,2 and 3 correct)

(C) 1,37 4 @& (1,3 and 4 correct) (D) 1,2,374 Hﬁf(alllZ?y and4arecorrect)

'Green Cross International' 3 TEITI 37T 1 &1 ?

(A) frema e (Mikhail Gorbachov)  (B)  3reigsiuet fer@iarel (Alexander Likhotal)

(C) g 3arEmht (Shoo Iwasaki) (D) ~ 3@ TR (Al Gore) |
Anti Retro Viral Therapy 7 Wi T S ?

(A) TR (Cancer). _ (B) TS® (AIDS)

(C) &= (Tuberculosis) (D) wAf@ET (Malaria)

Dry Ice & @ ? What is Dry Ice?
(A) 3 FT9 TEFFES (Solid Carbon Dioxide)

- (B) TR (Ice dust)

(C) e AfFEsH (Liquefied Oxygen)

(D) el ggesH (Liquefied Hydrogen)
"The Universe in a Nutshell" 'ﬂﬂ@%‘ﬂﬁ?{ ?

(A) faferw gfee@ (William Hawkins) (B) ¥E%d B (Michael Faraday)

(C) TS 954 (Roger Bacon) (D) =¥ %= (John Finch)
GIEATTAR. .o cvvcre %1 ®qa1 9+ faf5 | Supernova is also known as..........
(A) ¥9%g (A Comet) (B) TRRES (An Asteroid)

(C) SEEWR (A dying star) (D) =1 B (A black hole)



35.

36.

37.

38.

-39.

40.

41.

42.
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T T g Statement IEE B | WK WA (Assertion) T FHEAR FRO (Reason)

TS B | FEH1 T Statement T W 3 ST IFGRR| :
s (Assertion): AIDS i A ¥ 1 (There is no vaccine for AIDS)

RO ((Reason) : AIDS F1 JEEA g1 ffeh Fre qfade T | (The AIDS virus changes its
genetic code) : ; e
(A) W (A) THRU (R) 34 1% B L HR (R) ¥E (A) 1 3 A 7 |
(Both Assertion (A) and Reason (R) are right and the Reason (R) is the correct explanation of
the Assertion (A).) :

(B) W@(A)TW(R)@@?W{TW(R)W(A)@@Em@|

(Both Assertion (A) and Reason (R) are right and the Reason (R) is the correct explanation of
the Assertion (A).)

(©) T (A) 3% BT R (R) 7o B 1 (Assertion (A) is right, but Reason (R) is wrong

(D) ¥ (A) 7A@ ¥ W EHR (R) 31 B | (Assertion (A) is wrong but Reason (R) is right)
f&=R 92 | Consider the following statements: .
1. T/ T T ST I ey Tl SR S TS | (An air bubble in water will act like
a  concave lens.) ; :
2. afeE g (Urea) Fersirl 101 €9 1 (In human, urea is formed in liver)
ify Sheiiad HoTEEH 1 % 8l / §1 2 Which of the statement (s) given above is / are correct?
(A) 19 (1 only) ' (B) 24 (2only) '
(C) 1723 E (Both 1 and 2) (D)-.1 T2 33 ¥&H, (Neither 1 nor 2)
FRiTEE Tl S TR NeT e FE S 2
Where is the headquarter of International Renewable Energy Agency?
(A) New York (B) Tokyo (C) Geneva (D) Abu Dhabi
ﬁﬁm@(wm)@lmmwﬁmm%2 ;
(A) Doha Round (B) Uruguay Round = (C) GATT Round (D) TIDP Round
T 2017 Y SRR YT T T WER Foregeh! Terf-arafl Fee TGEs e YRR ?
(A) 180 (B) 181 : (€. 182 (D) 183
F=ifiga 9™ ¥ (International Labour Organization) A HE A T JEHR W TR
o :
(A) 1970 AD . (B) 1969 AD : (C) 1972 AD . (D) 1973 AD
G (BRICS) Wi NS Tgs! Tl 2EH! HUes JRel e THerd : i
1. oo fee weer, 2009 w1 Fel 7 SR st
2. Torergen! Tl TEE, 2015 1 TEH! SHAT WTH T
3. gferr sifteeR fome Se Stf-ae SRRT g o |

iy Shrefad Fueem A BF A/ § 2

(A) 19249 (1 and 2 only) (B) 2 39 (2 and 3 only)

(C) 1334 (1 and 3 only) (D) 1,2 T39I (1,2 and 3 all)
frafafed Svee O FER e : ' L

1. W (France) 2. 94 (Norway)

3. %d (Russia) 4. HgwH AT (United Kingdom)

5. HIH TSF ARG (United States America)

R IREE (Arctic Council) P HETes AT Sfeaaa a0Hed 7 H7 §4 2
(A) 1,23435 (allal,2,34 and 5) (B) 1,3 T4 ¥ (1,3 and 4 only)
(C) 14359 (1,4 and 5 only) (D) 2,3 ¥5¥H (2,3 and 5 only)



43.

44.

45.

46.

47.

48.

49..
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WWWWWMWWMMIWWWW
TR TR =i B § 2

(A) THREE IS ~ (B) WgHRIENY -

(C) a&™ arm (D) FEER Wy

RIBA (RIBA International Prize) F=RI(%d TR deish Hrale a1 T=heq S ?
(A) W(theraaturc) - (B) W(Sport)

(C) sf=ifaftg (Engineering ) (D) &M@ (Music)

2018 Tt fore et et s W (Mascor) frra meim A & 2

Which one of the following is the Official Mascot for 2018 FIFA World Cup?

(A) Fuleco . (B) Zakumi ©) Footix (D) Zabivaka

31 mmmmmmmm:mmmmwaﬂ

SRR

@Wﬁ Eere! (Player) ' 'W;Games)

a) TR el T St g . 1) 9 (Swimming)

b) FYeEH Gl 2) ¥ (Judo)

o) Tafwmgeg vifefug 3)  WeER3I (Taekwondo)
d) fwnmges : 4)  URIfead (Athletics)
e) Ta=mramm 5) 3= (Archary)

(A) a-4,b-3,c-2,d-1,e-5 ) (B) a-5,b-2,c-1,d-3,e4

(C) a4,b-2,c-1,d-3,e-5 (D) a4,b-1,c-2,d-3,e-5
mmmﬁﬁm@aﬂﬁaﬂm (Consider the following Nobel Prize winners.)
1.  Barry Barish 2. Jeffrey C. Hall

3. Kip S. Thorne ‘4. - Rainer Weiss

5. Richard Henderson v
ST 7 TG 099 HN mﬁwmmmﬁﬁﬁﬁﬁrq ? Who among the above won

" the Nobel Prize in Physies 2017 2 .

(A) 1,233 (1,2and 3) . (B) 1,3 T4 WM (1,3 and 4)
(C) 1,3359E (1,3 and 5) (D) 2,4 T59H (24 and 5)
TEITNE @aﬁwﬂatmmﬁawme)mﬁ’rwmu
THE (Group) I 48 (Group) I1
a) < Ha9 (Al Sabab) : 1) %9 (France)-
b) I &M (Bokoharam) 2) ¥ (Iraq)
c) =l 858l (Charlie Hebdo) 3) AESIRA ((Nigeria)
d) swntHs 2 (Islamic State) 4) drifern (Somalia)
ﬁ%’gCodez

a b [ d
(A) 1 /) 3 4
(B) 2 1 4 3
©) 3 4 2 1
(D) 4 3 1 2

Siret e aer £ 3'737 ¥ ? Matching Group I wnh Group II, which of the followmg is
correct?

& (Group) I W(Group)  § B

a) TISHE Al I-((Madman Theory) 1)  ErsiE dm (XI Jin Ping)

b) Te i wE —ﬁTﬁ’f (Put Ameuca First Policy)  2) AT (O Henry)

. R U,
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(A) a-1,b-4,c-2,d-3 (B) a-2,b-1,c-3,d-4

(C) a-4,b-3,c-1,d-2 (D) a-3,b-2,c-4,d-1

T 2017 31 World Economic Forum % s Siger e 9= qar el f\ﬁ T HA é:r
T2

(A) IfEHT, <19, WRE, ST9M, ST (USA, China, India, Japan, Germany)

(B) 3r&f¥eh, =¥, R4, ST9H, % (USA, China, India, Japan, France)

(C) AfE, =¥, WRE, ST, S@rAd (USA, China, India, Japan, United Kingdom)

(D) Sﬁﬁaﬂ, =4, ST9H, AT, E Ik (USA, China, Japan, Germany, United Kingdom)

1. (D) 2.(B) 3.(B) 4.(A) 5.(A)
6. (A) 7.(D) 8.(B) 9.(B) 10. (B)
11. €C) - 12.(A) 13.(C) 14.(D) 15. (A)
16. (B) 17. (D) 18. (D) 19. (C) 20.(B) -
21. (B) 22. (B) 23. (B) 24. (C) 25.(D)
26. (C) 27.(A) 28. (C) 29. (A) 1 30. (A)
31. (B) 32. (A) 33. (A) 34. (C) 35. (A)
36. (C) 37. (D) 38. (D) 39. (D) 40. (B)
41. (B) 42.0 43. (C) 44. (C) 45. (D)
- 46. (C) 47. (B) 48. (D) 49.(C) 50. (D)
3113, @
1. frweR R SRR
Consider the following series:
11:20, 11:40, 12:20, ?, 14:40, 16:20
=iy fegast sromn Fornet forfiaa el e s Sifswa & 2
Which one of the following is the missing time in the series given above?
(a) 13:00 ~(b) 13:20 (c) 13:40 (d) 14:00
24 8:28::27:? J E : ;
(a) 28 : (b) 8 (c) 64 (d 65
3. SgTEW g {21, 51, 15) R P e @ 2
Which of the following is like set of numbers {21, 51, 15}?
- (a) {21,30,51} (b) {21, 35,41} () {21,51,42} (d) {21,91,35}
4.  AABAFTHTF S RATRS IR FHEHB A 12ﬁamﬂ%AzBammm$ﬁrﬁm
S e 2
A does a work in 8 days and B does the same work in 12 days. In how many davs they
together will do the same work?
(a) 18/5 (b) 12/5 (c) 10 (d) " 24/5
5. 7 S HE RER dETeEe) dma M 3| af o 3 s whve e s o wEE TRe
WS sles ?

The average of 7 consecutive odd numbers is M. If the next 3 odd numbers are also mcluded
what is the new average?

(a) sfgq & (remains unchanged) -
(c) 2% 3fE TS (increases by 2)

() 159 EIF@ B9 (increases by 1.5).
(d) 3 9fE TS (increasés by 3)
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7 diagram STER BfeTH Ag/HSN T TSI | Find out the missing number from the

foll(iwing diagri\m. ‘ ’
S K
%’)i—+ Q =28
b A
‘ .
'é- + O +A =17

@ 36 (b) 34 © 32 (d) 30
T T e el T T e FREEH T TR B | f T I, T FT H FAE 12, 9

. V6 TIEE WER TR B | IR W T U FReESH! WS TR T 91 Fel Th 0 FE TR S W

HREEH! R USHA Fid S ? (Three hundred passengers are traveling in white, red and black
cars; each of these cars is carrying 12, 9 and 6 passengers, respectively. If the number of
white and red cars is equal and there is only one black car, what is the total number of cars?
(a 21 (b)y 23 : (c) 27 @ 29 ,

T IRERH S, 1, BRI T AT SHEE FAE A, B, CID S A-B=3,B+C=78,C+D=
33 TIREARS! 3iHa I 34 74 REwh 5| TR SR I S T RS 2

In a family, the age of father, mother, son and grandson are A, B, C and D respectively.
Given that A-B=3, B +C =78, C + D = 33 and the average age of the family is 34 years. What
is difference between age of father and age of son?

(@) 28years - - (b) 25 years (c) ‘22 years _ (d) 20 years

T fegTr SRR W Tege T RETH 3v! SR RGN | (Read the following information

carefully and answer the questions given below). :

1. Padma, Karim, Reshma, Shanta ¥ Tanka Gi<Si1 Qiefige 81 | (Padma, Karim, Reshma, Shanta
and Tanka are five friends.) : :

TANKA %=1 KARIM i1 B (KARIM is elder to TANKA)

PADMA %=1 RESHMA %8I B (RESHMA is younger to PADMA)

TANKA %=1 PADMA %731 3 (PADMA is younger to TANKA)

. PADMA %=1 SHANTA 3@ B (SHANTA is elder to PADMA)

e e s s ? (Who among the following is the ybungest?)

(a) PADMA (b) KARIM (c) RESHMA (d). SHANTA

ﬁwaﬁaﬁﬁwnﬁﬂm (Consider the following square:) :

U |V |46 '

45143 | W

X1Y |Z ‘ ‘ -

P I el YOS SISTH 57| A TIAE T g 37 (Magic Square) T SRR TR ST
U, V, W, X, Y TZ %! 3301 99 . TEAES 137 T8 el 2 0t Rsus! $re Wi 71 98 5
g9 ‘T:féﬁ{ | (Some numbers are missing in the above square. In order to transform it into a
'Magic Square', which numbers should come in the place of U, V, W, X, Y and Z

PR
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H1S (Code)

Ju v Iwl[Xx |y |Z
(A) |44 |40 [41]39 47|42
(B) |44 (39141404742
(C) |42]39]40[47 |41 |44} . ;
(D) | 4214039414744

fafir S G TS X, Y T Z O | S Fiees P, QTR T THIEE The S I§
T | T YA/ P @ X 1 6 4. 7 S W 1930, e WS | Q &= Y W 7 S T
e W3 AA. 79 WS | R @2 W 6.5 J3f. 7 wg® W 2 9. T W | A v faesas
mmwzommwﬁWMImi@m
IEEE AT HI B B 2 (There are three pillar X, Y and Z of different heights. Three Ants P,Q
and R start to climb on these pillars simultaneously, In one chance, P climbs on X by 6 cm but
slips down 1 cm. Q climbs on Y by 7cm but slips down 3cm.-R climbs on Z by 6.5cm but slips
down 2 cm. If each of them requires 20 chances to reach the top of the pillars, what are the heights

of the tallest and shortest pillars respectively? ) .
(a) 95cm, 76cm (b) 100cm, 92cm (¢) 10lcm,76cm (d) 10lcm, 83cm

=R faudies- P, Q,staéqzagaaﬁﬁmmmmmsimmam
m|mwatﬁmmmmﬁhalgﬁaﬁmﬁﬁwmmmwmﬁ
@lmnﬁzmm@mmﬁugﬁmnﬁm SIS U AT S -
mmgswmmmmmmmﬁmmmmmm
mzm@ﬁmmmﬁmﬁmmﬁﬁalmmﬁmmm ,
oG FER : P:1 T, Q:3 Wi, R:7 T T :10 e | w9 Rauréiesen get IR TH e i

- FETEF B ?

Four soldiers-P, Q, R and S need to cross a bridge. A maximum of two person can cross it at a
time. It is night and they just have one lamp. Persons that cross the bridge must carry the lamp to
find the way. A pair must walk together at the speed of slower person. After crossing the bridge,

" the person having faster speed in the pair will return with lamp each time to accompany another

person in the group. Finally, the lamp has to be returned at the original place and the person who
returns the lamp has to cross the bridge again without lJamp. To cross the bridge, the time taken by
them is as follows: P:1 minute, Q:3 minutes, R:7 minutes and S:10 minutes. What is the total
minimum time required by all the soldiers to cross the bridge?

(a) 24 minutes (b) 23 minutes (c) 21 minutes ; (d) 20 minutes
e fagua), s 1, 2,314mmmwmmmmmlwmw
T | . '

Consider the four age pyramids given below namely 1,2, 3 and 4 representing four different
places.

PAA O D

Percent in age class >
W ET) THFA TRQ SAHEE! G3d 78S ? (Which one of them indicates the declining
population?)’ ' _

(a) 4 - (® 3 (c) 2 @ 1




and their rate of a school is given below).

fa-. @RE 9l (Material Hfd TS <X (Per unit Rt g
(S.N.) Purchased) rate) (Quantity) (Discount)

1. Air-Conditioner " Rs. 30,000 1 5%

2. Computer Rs.42,000 1 7%

3. Desk and Chair Rs.900 ‘ 27 -

4. Backpack Rs.700 27 -

5. ‘Whiteboard Rs.1600 1 -

6. Calculator Rs.150 25 : —

A, 3vfaA. 6 sgare v @ fe forenera =t TGS TH TR ? (To purchase ‘the materials of

this serial number 3 and 6, how much budget should the school have spent?)
(a) Rs.20,300 (b) Rs.28,050 (c) Rs.25,800 (d) Rs.34,100

39 (Direction): et fgua 3 (Pie-chart) ™ H T WER o9 T HfeeT T STWRR ToW T

15.

16..

AfecTh! Al WS | ﬁwmﬁmtﬁnmmﬁ@m (The pie-chart
shows the percentage of literate and illiterate male and female in a place. Study the diagram

and answer the following questions.)

Iiliterate Female
(12%)

Literate Male
(45%)

Literate Female )
y G54 "litc;:g/c)h/lale

T T WA 35,000 WY TEH TR T AR GrRIEH! TN S wF FH S 2 (If the total number
is 35000, then the differences between the numbers of literate male and literate female is

(a) 3500 (b) 3700 (c) 4000 (d) 4500

I F T T TS S 36° T SR YA < WHRE® 7§, ? (If the difference

between the two categories of people are represented by 36° in the diagram then these

categories are

(a) WIEX geY T H&R HiGE (Literate male and literate female)

(b) W& GEY T THER Y%Y (Literate male and illiterate male)

(c) 3THIER gHY T W& Afeel (Iliterate male and literate female)

(d) TG gE T 37HIER Aieel ([literate male and illiterate female)

e et 2 (39 e o, T@ Rgws g R TR | Directions: For the following
2(two) items consider the information given below). fs afesm T HooHl E TE
programmes T Y41 Wﬁﬁ?mﬁﬂmmm '

The following table shows the number of student admitted under various categories to
different programs in a collage.

THR (Category) | Intermediate |~ Bachelor Master  M.Phil. Ph.D.
Gell (Open) 200 100 50 - 100 180
Hfgel (Women) 54 27 18 27 49
3T (Others) 45 23 12 22 4]
ST (Total) 299 150 80 149 270
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T 9 ¥R Master programme T %fd Ui femdffies /i g 2
What is the percentage of student admitted to the Master programme in all the three

. categories?

(a)* 7.43% (b) 7.89% (c) 8.15% © (d) 8.44%
fenefices! s Y& Ph.D faemdies (@e ¥R) i Wiw@ Hid S 2 (What is the percentage
of Ph.D. students (Open category) in the total number of students?

(a) 15.72% (b) 18.99% () 19.98% “(d) 20.72%
ﬁs@’tma‘»aﬁm (Which term comes next in the series?) nd, iy, dt, yo, e
(a) mp (b) nq - () of (d) oe

%3 T fifY=a $IS W DIAMOND &1 VQYMKLYV @& | @ $¢ Waet FEMALE w8
F9{ AfES ? (In a certain code language, DIAMOND is written VQYMKLYV. How is
FEMALE written in that code?) :

(a) TUMZOU (b) UVNZOV (¢) TVNYNV (d) TUMYNU
Dentiform «>Tooth ¥¥ (as) Dendriform ¢ ? it
(a) Triangle (b) Tree (¢) Arch (d) Foot

H ET A RS A, B TC IRRYHT S 1 A TB H e W= 1 91 B T C <= A
T 1 AR C W WS A I T A WK GO THEEE T B W G ARAT HRA B TN
Hirg® §1 TaGe1? (Three persons A, B and C are standing in a queue. There are five
persons between A and B and eight persons between B and C. If there he three persons
ahead of C and 21 persons behind A, what could be the minimum number of persons in the
queue?) ' , _ 7 4

(a) 41 - : (b) 40 (c) 28 @ 27

@ A HITEs TS s 1 T I e 5 | Reww 79 el veger X e sureear
T frrdet Tdt T TEEe faER TR | In the following two statements followed by
two conclusions numbered I and II. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements. '

e p:c) parrots apples §1 S% mosquitoes parrots i |

‘Statements: All the parrots are apples. Some mosquitoes are parrots.

f=H¥/Conclusions: A

(i) @& mosquitoes apples gl Some mosquitoes are apples.

(ii) ¥ apples parrots B | All the apples are parrots

(a) Only (I) conclusion follows . (b) Only (II) conclusion follows
(c) Either (I) or (II) follows (d) Neither (I) nor (II) follows

TR WA 3E5 Statement 0@ T | WWAWR WK (Assertion) T FHAR PR (Reason)

et B | 7Yl fSSTT Statement 1 WA 3% ST W | (In the following question, two

statements are given, the first one is called 'Assertion’ and another is called 'Reason’.

Regarding the statéments given on the question, choose the right answer:

Y (Assertion): AIDS %t SIRAH 8 | (There is no vaccine for AIDS.)

FR (Reason): AIDS WS m fSfes e ai@ds 76 | (The AIDS virus changes its

genetic code) : )

(@ R (A) T FR (R) T3 3F B T HIO (R) ST (A) Hi 315 =ArT B | (Both Assertion (A)
and Reason (R) are right and the Reason (R) is the correct explanation of the Assertion (A)).

(b) T (A) T HRU (R) g4 1k B T FWU (R) ¥FTE (A) I T SATEAT ¥ | (Both the Assertion
(A) and Reason (R) are right and the Reason (R) is not the correct explanation of the
Assertion (A)) ' ' '

(c) ¥ (A) 3T B T WU (R) 7T B (Assertion (A) is right, but Reason (R) is wrong)
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- f= m [ fﬂ'ﬂR TR T IS fegu! wea I @@ (Examine the following

sticks pattern and answer the item that follows:)

/\ A TAN YV AVAVY A

ANy S b O 4 S

TYH =0T ;
. 15U stage 20d g0 31d gage :
% Fegies! < afe frmr et w@) =wor (12 stage) Tl Sid WS TEdE® AETF 5 ? (If

the sticks pattern continues, how many sticks are needed in the 12™ stage? ;
(@ 50 (b) 66

) 72 . (d) et 7 9 ST (None of the above)
ﬁﬂmmﬁiﬂ‘ﬁaﬂ (Consider the following group of figure:)
g (Group) -1 - "TE (Group) - II

AlS Ol @00 =]
OO|eA| |[O§||va

O@ll0o] [OD]C®
og|A®  Fuliimie)

e 5 o T 57 e o 2
Which of the following‘ figure belongs in neither group?

Od||D &0
C¢||m<4/0)

(a) (b) (©) (d)
T TSI =BT T A 53 Tl I et R Sfie 7ot A T 34 wrg a1 2 26
WMMWIWQQWRWIWWzmﬁmﬁ:m@
T Tt A st Tl wiafaftes 78 2 Ina dinner, party both fish and meet were served.

Some took only fish and some only meat. There were some vegetarians who did not accept
either. The rest accepted both fish and meat. Which one of the following diagrams'correctly
reflects this situation? ;

@O@@,
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28. T m W"@H (Consider the following figure:)
a e b

Ty feeum AHRE I AEAES TEE SF, T SIaEEH HeN F{a 8 ? (Rewal abed T T A
Te, f, g, h 0 TN yoesw 7o rges §) (What is the number of rectangles which are not
squares in the above figure? (Given that abed is a square and e, f, g, h are mid-point of its
sides) , i £ ;
(@) 13 ) 16 Ce) 14 . @ 21

20, o e SR Rt e dngE fo 3 SR B Y 3% 4 Wl VT rada s g7 A9

%S ? (Which number is'on the face opposite 4, if the four different positions of a dice are as
shown in the figures given below? % § @

RRE - TR O R 9 TP, T
a) -5 S kR : € 2+ £ (d) 1
30. ez fax Ay frm 7R : (Consider the following figure matrix:

SO0 S
DSV
el

mmﬁﬁammmmmmw?Whichoneofthe

following figures fits into the missing square of the above matrix ?
@ @ { . ) ‘
O
(@ U ) B ’

(© (@)
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Answer with Explanation

11:20, 11 :40, 12.: 20, 13:20, 14 : 40, 16 : 20,

L l l | | |
] 20 fae 40 foz 60 T 80 fame 100 fie
I Tl 3W 13:20 &9 98T | - .

2. ‘(d) |

T g 2° :3° 41334341
T e W 65 T IRT |

3.(d)

T8 Y12 (21,51,15) 4 (21,91,35) 9
w 51-21=30=15x%2 SRJ 91-21 =70 = 35 x2 . .
R T IR (21,91,35) A

4.(d)

AzBéﬁﬁwnﬁ% +-l- £

1270494
4o st ey
Rﬁéaﬁrm%—al

5.(d)

: mﬁsht#@m3aamﬁ?hzmsﬁuaqﬁ3é%qfsﬁu

6. (b)

12+412+12 =36
12+16=28

16-6=10

A 12+ 16 + 6 = 34 T AED |

7.(d)

el HAPR TAHR FHTABR
: 14 14 |

x12 x9 X6 ST 360 S A
168 - 126 6

T 14 + 14 +1 =29 FR

8. (b)

FASE A-B =3, B+C =78, C +D = 33 TIRGRa] 3i19d 351 34 Y 78] YRER®! (A+B+C+D) =
136

~A+B=103

- A=53,B=50,C=28

~A-C=53-28=25

9.(c)

S
i K

R
R

-

T R 901 FRORTE TewE el v S RESHMA & T

. .S

N )

10. (b)

U 44-1V39 |46 129

45 43 W 129

X40 | Y47 |z42 129

129 129 129

~U vV W X Y Z
4 39 41 40 47 42

11.(d)

TR 999 A2 P HiTeme! 9@ 6 om, B | cm &1 T JIEH1 Scm AR 9785 20 FAEHE = 19x5+6=
101 cm 37E &9 | =09 TewmT e 9 | .
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mwmz#mm cm =&, 3 cm YA T&1 | TEEE dem AITY §7S 20 TIRFE = 10xa+7 =
83cm B & | Afead JHRT g UeA | aﬂéaﬁrm 101cm,83cm TS (d) e SWES |

12.(a)

TR gee 4 faut P, Q,R,S
13 7 10T

| @

-—

1

P —

QE&—
N ST
R <
P———-—-—>
SEE—
wEem . wee e anfe
s (10+D)+ (7+#D)+ G+ + 1

=24 e
e gfe 3w (a)

13. (b)

"Population pyramid =1 ST S| e 3§D | Populatlon Pyramid faam L A/ FH
FaRaie .

14. (b)

FIGEN,
(900x27+25%150)
= 24300 + 3750
~. 28050

15.(a)

Y9 TR 60 |a45% ]
nfeet TER 35% wwE 10%

. 10
. 35000% 100 = 3500

16.(a)

1% =3.6° 31 (100% %r360°§% TR
TN TER T ATEe e Fh 10% TG
10 x3.6 = 36° & | T el S (2) T ARB |

17.(d)

: 80
Master programme = g ¢ X 100 = 8.44%
STHET (299+ 150 + 80 + 149 + 270 = 948)

18. (b)

180
PH. D@?ﬂ;zg x100 = 18.99%
ST (299 + 150 + 80 + 149 + 270 =948)

19."(d)

nd iy dt y o t ] oe
144 925 420 2515 2010 b

ALALALAL’

-5 -5 -3 -5 =35

20. (d)

DIAMOND = FEMALE
TUMYNU [VQYMKLV TUMYNU]
T8l code T sum26 B
D=4,V=22 F=6T20
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30. (a)

|214®) [ Dentiform — Tooth (2 3R —> Dentiform)
Dendriform — Tree (¥ %R —> Dendriforn)
22.(c) C A B :
?'"37{; 3% Y } 5 .}15 !
S 342+5+15 + (A+B+C) = 28 (F[H Qs
23. (a) 7
I TaTgeas Wmﬂonly (1) conclusion fo]lows?{m 1
24. (a) W(A)TW(R)@@EWIW(R)W(A)aﬁaﬁw‘mﬂl
25.(a) |W¥EER ,
I Stage - ' ' ZStage _ 3Stage ,
Staoe 12 % -4 5 6 7 8 9..- 100 M 12
e 6. 10 M. I84S22° 26 30 34 38 42 46 S0
26. (b) ' : T
27.(a) | TfF
S
o
28.(b) | ST ST 21, SEHT & 5, O W AW 21-5 = 16
b i
29(d) |SEHitliidR 5=1246TeRI5=3 .
TR i Tiv e 2 = 1345 foref 2= 6#@34—1@&1@;
4Erﬁoppos1te 1891
MCWTACWW%??
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Enghsh

Admiration of great men, both of our own time and of the past, is.a valuable emotion and a.stimulus to
useful activity. To young men of vigour and enterprise, the achievements of predecessors are an-
encouragement and a proof of what is possible to achieve. : ~
But if this good effect is to result from administration, it is necessary that the men who are admired
should be regarded as something that it is possible to equal by means of sufficient exertion, not as
something outside our capacity. It is possible to use the great men of the past as an excuse for laziness, by
assuming that what they thought was perfect for all time and need never be re-examined.
This attitude is defended by those who adopt it, who call it ‘reverence’ and condemn all modern initiative
as disrespectful. ‘Reverence’ in this sense has been a misfortune to the human race.
One of the most outstanding examples of the harm done by excessive reverence is the influence of
Aristotle. For a brief period, in the eleventh and twelfth centuries, when the West rediscovered him
through contact with the Arabs, his writings acted as an intellectual stimulus. But very soon he became
the canon of orthodoxy, and no advance could be made except by showing the falsehood of what he had
said.
Galileo could not induce professors of astronomy to look through his telescope at Jupiter’'s moons,
because they knew from Aristotle that Jupiter has no moons. Throughout Galileo’s life he was as much
criticized for disagreeing with Aristotle as for his supposed conflict with the scriptures.
Two centuries later, when Darwin published Origin of Species, he was met by dogmatic assertion of
Aristotle’s doctrine that each species was separately created: In logic and aesthetics hlS influence has
‘been, and still is, exceedingly pernicious.
Questions:
1 Which of the followmg statements is closest in meamng to the central idea of the first

paragraph?

A. Great men guide young men.

B. Admiration of past and present great men provides emotional vigour-to young and energetic

men of today.

C. Young men can learn from the achievements of the great men.

D.  Achievements of men of past are stimulating to men of present.
2. Showing reverence to the great men also implies that..........c.eeeeen.

A. the young men tend to be lazy.

B. the great men were unquestlonable and perfect.

C. The good effect on young men is the result of admiring great men.

D. the men who are admired are always great.

3. Which of the following statements is not true?

A. Admiration of the great men of the past may lead to disrespect the modern intiatives.

B. Auistotle provided intellectual stimulus to reverence.

C. To show reverence to the great men orthodoxy.

D. Excessive reverence is bad.

4. Aristotle and Galileo were different in.............
A. matters of belief. B. scientific outlook
C. views about moons in Jupiter. D. understanding the solar system
5. Darwin’s Origin of Species was in contrast with Aristotle’s doctrine in..................
A. matters of evolution of species. B. the way each species was created.

C. the way they explained things. D. the times they were born and lived.
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Syntactic Ability Question:

6. Choose the correct meaning of the idiom “to cry wolf”
A. to listen eagerly B. to give false alarm
C. toturn pale D. to keep off starvation
7. - “To put one hand to plough’ means ‘
A. to take up agricultural farming ‘ B. to take a difficult task
C. to get engaged into unnecessary things D. to take interest in a technical work
8. You should confide............ stranger.
A. - in B. to C. with " D. by
9. | iiiesssensses she is clever, she often makes mistake.
. A. Despite B. Since C. Although- D. Yet
10.  The Prime Mlmster of People’s Republic of china called................... the Prime Minister of
Nepal. ;
A. in N B. out C. on D. at

11.  Which is the correct indirect speech of the sentence- He said, “Hari passed his exammatlon 64
' A. He told us that Hari has passed his examination. :
B. He said Hari will pass the examination.
C. He said that Hari had passed the examination.
D. He said that Hari would have passed his examination. :
12.  Supply the correct article in the blank space in the following sentence; Mt. Everest
1S, Gu0ine0s highest mountain in the world.
A a B. an -C. . The oo :D. that
13. . Which of the following is correct?
A. He lived in Kathmandu since 1990.
B. He has heen living in Kathmandu since 1990.
C. He lives in Kathmandu since 1990.
D. Since 1990 he lived in Kathmandu
Vocabulary Questions:
14.  “The state of being physxcally healthy means:

A. strength : B. joy
C. the state of being handsome D. fitness
15. A person officially chosen by an organization to mvestlgate a problem and report on it is
known as:
- A. reporter *B. journalist " C. rapporteur D. judge"
16.  Which of the following word mean “to deal successfully though with a difficulty ?
A. tosurmount B. tosucceed C. -toresolve - D. todefeat
17.  The word for “too closely linked to be separated” is known as:
A. attraction B. friendly C. inextricable D. inseparable
18. What de you understand by “blue blooded”? . i
A. extraordinary B. -anexpensive
C. from a royal or noble family D. impossible
19.  What is the synonym of “delusion”? .
A. exclusion B. imagination C. hallucination D. - fire band
20. . Which one of the following words describe an imaginative way of describing something:
A. Fictional - B. illusory . C. miraculous D.  metaphorical

000





